

Approximation of Function in the Generalized Zygmund Class by Double Euler Summability Means of Fourier Series

Santosh Kumar Sinha

Department of Mathematics, Lakhmi Chand Institute of Technology

Bilaspur, Chhattisgarh, India -495001

Email – drksinha2024@gmail.com

Abstract

In this paper, a theorem on degree of approximation of function in the generalized Zygmund class by double Euler summability means of Fourier series has been established.

Keywords : Degree of approximation, Generalized Zygmund class, (E, q) means, $(E, 1)$ means.

MSC : 41A24, 41A25, 42B05, 42B08

1. Introduction

The degree of approximation of function belonging to different classes like $Lip\ \alpha$, $Lip(\alpha, r)$, $Lip(\xi(t), r)$, $W(L_r, \xi(t))$ have been studied by many researchers using different summability means (see [5], [6]). The error estimation of function in Lipschitz and Zygmund class using different means of Fourier series and conjugate Fourier series have been great interest among the researcher. The generalized Zygmund class $Z_r^{(\omega)}$ ($r \geq 1$) has studied by Leindler [2] Moricz [3], Moricz and Nemeth [4] etc. Recently Singh et al. [9], Mishra et al. [7], Pradhan et al. [8], Das et al. [1], find the results in Zygmund class by using different summability means. In this paper we find the degree of approximation of function in the generalized Zygmund class by (N, p_n) (E, q) means of Fourier series. To the best of our knowledge, degree of approximation of function in the generalized Zygmund class by $(E, 1)$ $(E, 1)$ product summability means of Fourier series has not been studied so far.

2. Definition

Let f be a periodic function of period 2π integrable in the sense of Lebesgue over $[\pi, -\pi]$. Then the Fourier series of f given by

$$f(t) \approx \frac{a_0}{2} + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx) \quad (2.1)$$

Zygmund class Z is defined as

$$Z = \{f \in C[-\pi, \pi] \mid |f(x+t) + f(x-t) - 2f(x)| = O(|t|)\}.$$

Let $\omega: [0, 2\pi] \rightarrow R$ be an arbitrary function with $\omega(t) > 0$ for $0 < t < 2\pi$

$\lim_{t \rightarrow 0} \omega(t) = \omega(0) = 0$ define

$$Z_p^w := \left\{ f \in L_p : 1 \leq p \leq \infty \sup \frac{\|f(\cdot + t) + f(\cdot - t) - 2f(\cdot)\|_p}{\omega(t)} < \infty \right\}$$

$$\text{and } \|f\|_p^\omega := \|f\|_p + \sup \frac{\|f(\cdot + t) + f(\cdot - t) - 2f(\cdot)\|_p}{\omega(t)} \quad p \geq 1. \quad (2.2)$$

Clearly $\|\cdot\|_p^\omega$ is a norm on Z_p^w .

Hence the Zygmund space Z_p^w is a Banach space under the norm $\|\cdot\|_p^\omega$.

We write through the paper

$$\emptyset_x(t) = f(x+t) - 2f(x) + f(x-t) \quad (2.3)$$

$$K_n(t) = \frac{1}{(2)^{n+k+1}\pi} \sum_{k=0}^n \binom{n}{k} \left\{ \sum_{v=0}^k \binom{k}{v} \frac{\sin(v+\frac{1}{2})t}{\sin(\frac{t}{2})} \right\}. \quad (2.4)$$

3. Main Result

In this paper we prove the following theorem.

Theorem - Let f be a 2π periodic function, Lebesgue integrable in $[0, 2\pi]$ and belonging to generalized Zygmund class $Z_r^{(w)}$ ($r \geq 1$). Then the degree of approximation of function f by $(E, 1)$ $(E, 1)$ product mean of Fourier series is given

$$\text{by } E_n(f) = \inf \|t_n^{EE} - f\|_r^v = o\left(\int_{\frac{1}{n+1}}^{\pi} \frac{w(t)}{tv(t)} dt\right)$$

where $\omega(t)$ and $v(t)$ denotes the Zygmund moduli of continuity such that $\frac{w(t)}{v(t)}$ is positive and increasing.

4. Lemma - To prove the theorem we need the following Lemma.

Lemma 4(a) - For $0 \leq t \leq \frac{\pi}{n+1}$ we have $\sin nt = n \sin t$

$$|K_n(t)| = o(n) \quad (4.1)$$

Proof - For $0 \leq t \leq \frac{\pi}{n+1}$ and $\sin nt = n \sin t$ then

$$\begin{aligned} |K_n(t)| &= \left| \frac{1}{(2)^{n+k+1}\pi} \sum_{k=0}^n \binom{n}{k} \left\{ \sum_{v=0}^k \binom{k}{v} \frac{\sin(v+\frac{1}{2})t}{\sin(\frac{t}{2})} \right\} \right| \\ &\leq \frac{1}{(2)^{n+k+1}\pi} \left| \sum_{k=0}^n \binom{n}{k} \left\{ \sum_{v=0}^k \binom{k}{v} \frac{(2v+1)\sin(\frac{t}{2})}{\sin(\frac{t}{2})} \right\} \right| \\ &\leq \frac{1}{(2)^{n+k+1}\pi} \left| \sum_{k=0}^n \binom{n}{k} (2k+1) \left\{ \sum_{v=0}^k \binom{k}{v} \right\} \right| \\ &\leq \frac{1}{(2)^{n+1}\pi} \left| \sum_{k=0}^n \binom{n}{k} (2k+1) \right| \\ &= \frac{(2n+1)}{2\pi} \end{aligned}$$

$$= o(n)$$

Lemma 4(b) - For $\frac{\pi}{n+1} \leq t \leq \pi$, $\sin \frac{t}{2} \geq \frac{t}{\pi}$ and $\sin nt \leq 1$ we have

$$|K_n(t)| = o\left(\frac{1}{t}\right) \quad (4.2)$$

Proof - For $\frac{\pi}{n} \leq t \leq \pi$, $\sin \frac{t}{2} \geq \frac{t}{\pi}$ and $\sin nt \leq 1$

$$\begin{aligned} |K_n(t)| &= \left| \frac{1}{(2)^{n+k+1}\pi} \sum_{k=0}^n \binom{n}{k} \left\{ \sum_{v=0}^k \binom{k}{v} \frac{\sin(v+\frac{1}{2})t}{\sin(\frac{t}{2})} \right\} \right| \\ &\leq \frac{1}{(2)^{n+k+1}\pi} \left| \sum_{k=0}^n \binom{n}{k} \left\{ \sum_{v=0}^k \binom{k}{v} q^{k-v} \frac{\pi}{t} \right\} \right| \\ &\leq \frac{1}{(2)^{n+k+1}t} \left| \sum_{k=0}^n \binom{n}{k} \left\{ \sum_{v=0}^k \binom{k}{v} \right\} \right| \\ &\leq \frac{1}{(2)^{n+1}t} \left| \sum_{k=0}^n \binom{n}{k} \right| \\ &= o\left(\frac{1}{t}\right) \end{aligned}$$

Lemma 4(c) - Let $f \in Z_p^{(w)}$ then for $0 < t \leq \pi$

- (i) $\|\phi(\cdot, t)\|_p = o(w(t))$
- (ii) $\|\phi(\cdot + y, t) + \phi(\cdot - y, t) - 2\phi(\cdot, t)\|_p = \begin{cases} o(w(t)) \\ o(w(y)) \end{cases}$
- (iii) If $\omega(t)$ and $v(t)$ are defined as in theorem then

$$\|\phi(\cdot + y, t) + \phi(\cdot - y, t) - 2\phi(\cdot, t)\|_p = \left\{ v(y) \frac{\omega(t)}{v(t)} \right\}$$

$$\text{where } \phi(x, t) = f(x+t) + f(x-t) - 2f(x).$$

5. Proof of Theorem 3

Let $s_n(x)$ denotes the partial sum of fourier series given in (2.1) then we have

$$s_n(x) - f(x) = \frac{1}{2\pi} \int_0^\pi \phi(t) \frac{\sin(n+\frac{1}{2})t}{\sin \frac{t}{2}} dt \quad (5.1)$$

$$\text{The (E, 1) transform } E_n^1 \text{ of } s_n \text{ is given by } E_n^1 - f(x) = \frac{1}{\pi(2)^{n+1}} \int_0^\pi \phi(t) \left\{ \sum_{k=0}^n \binom{n}{k} \frac{\sin(k+\frac{1}{2})t}{\sin(\frac{t}{2})} \right\} dt. \quad (5.2)$$

The (E, 1), (E, 1) transform of $s_n(x)$ is given by

$$t_n^{EE}(f) - f(x) = \frac{1}{\pi(2)^{n+1}} \sum_{k=0}^n \binom{n}{k} \int_0^\pi \phi(t) \left\{ \frac{1}{2^k} \sum_{v=0}^k \binom{k}{v} \frac{\sin(v+\frac{1}{2})t}{\sin(\frac{t}{2})} \right\} dt \quad (5.3)$$

$$= \int_0^\pi \phi(t) k_n(t). \quad (5.4)$$

Let $l_n(x) = t_n^{NE} - f(x) = \int_0^\pi \phi(x, t) k_n(t) dt$ then

$$l_n(x+y) + l_n(x-y) - 2l_n(x) = \int_0^\pi [\phi(x+y, t) + \phi(x-y, t) - 2\phi(x, t)] k_n(t) dt.$$

Using the generalized Minkowski's inequality we get

$$\begin{aligned} \|\phi(\cdot, +y, t) + \phi(\cdot, -y, t) - 2\phi(\cdot, t)\|_p &= \left\{ \frac{1}{2\pi} \int_0^{2\pi} |l_n(x+y) + l_n(x-y) - 2l_n(x)|^p dx \right\}^{\frac{1}{p}} \\ &= \left\{ \frac{1}{2\pi} \int_0^{2\pi} \left| \int_0^\pi [\phi(x+y, t) + \phi(x-y, t) - 2\phi(x, t)] k_n(t) dt \right|^p dx \right\}^{\frac{1}{p}} \\ &\leq \int_0^\pi \left\{ \frac{1}{2\pi} \int_0^{2\pi} |[\phi(x+y, t) + \phi(x-y, t) - 2\phi(x, t)] k_n(t)|^p dx \right\}^{\frac{1}{p}} dt \\ &= \int_0^\pi (|k_n(t)|^p)^{\frac{1}{p}} \left\{ \frac{1}{2\pi} \int_0^{2\pi} |[\phi(x+y, t) + \phi(x-y, t) - 2\phi(x, t)]|^p dx \right\}^{\frac{1}{p}} dt \\ &= \int_0^\pi \|\phi(\cdot, +y, t) + \phi(\cdot, -y, t) - 2\phi(\cdot, t)\|_p |k_n(t)| dt \\ &= \int_0^{\frac{1}{n+1}} \|\phi(\cdot, +y, t) + \phi(\cdot, -y, t) - 2\phi(\cdot, t)\|_p |k_n(t)| dt + \int_{\frac{1}{n+1}}^\pi \|\phi(\cdot, +y, t) + \phi(\cdot, -y, t) - 2\phi(\cdot, t)\|_p |k_n(t)| dt \\ &= I_1 + I_2. \text{ (say)} \end{aligned} \quad (5.5)$$

Using Lemma 4(a) and 4(c) and the monotonicity of $\frac{\omega(t)}{v(t)}$ with respect to t , we have

$$\begin{aligned} I_1 &= \int_0^{\frac{1}{n+1}} \|\phi(\cdot, +y, t) + \phi(\cdot, -y, t) - 2\phi(\cdot, t)\|_p |k_n(t)| dt \\ &= \int_0^{\frac{1}{n+1}} o\left(v(y) \frac{\omega(t)}{v(t)}\right) o(n) dt \\ &= o\left(nv(y) \int_0^{\frac{1}{n+1}} \frac{\omega(t)}{v(t)} dt\right). \end{aligned}$$

Using second mean value theorem of integral, we have

$$\begin{aligned} I_1 &\leq o\left(nv(y) \int_0^{\frac{1}{n+1}} \frac{\omega(t)}{v(t)} dt\right) \\ &= o\left(\frac{n}{n+1} v(y) \frac{\omega\left(\frac{1}{n+1}\right)}{v\left(\frac{1}{n+1}\right)}\right) \\ &= o\left(v(y) \frac{\omega\left(\frac{1}{n+1}\right)}{v\left(\frac{1}{n+1}\right)}\right). \end{aligned} \quad (5.6)$$

For I_2 using lemma 4(b) and 4(c), we have

$$\begin{aligned} I_2 &= \int_{\frac{1}{n+1}}^{\pi} \|\phi(\cdot, +y, t) + \phi(\cdot, -y, t) - 2\phi(\cdot, t)\|_p |k_n(t)| dt \\ &= o\left(\int_{\frac{1}{n+1}}^{\pi} \left(v(y) \frac{\omega(t)}{v(t)}\right) \frac{1}{t} dt\right) \\ &= o\left(v(y) \int_{\frac{1}{n+1}}^{\pi} \left(\frac{\omega(t)}{t v(t)}\right) dt\right). \end{aligned} \quad (5.7)$$

From (5.5), (5.6) and (5.7), we get

$$\|l_n(\cdot, +y) + l_n(\cdot, -y) - 2l_n(\cdot)\|_p = o\left(v(y) \frac{\omega\left(\frac{1}{n+1}\right)}{v\left(\frac{1}{n+1}\right)}\right) + o\left(v(y) \int_{\frac{1}{n+1}}^{\pi} \left(\frac{\omega(t)}{t v(t)}\right) dt\right)$$

$$\sup_{y \neq 0} \frac{\|l_n(\cdot, +y) + l_n(\cdot, -y) - 2l_n(\cdot)\|_p}{v(y)} = o\left(\frac{\omega\left(\frac{1}{n+1}\right)}{v\left(\frac{1}{n+1}\right)}\right) + o\left(\int_{\frac{1}{n+1}}^{\pi} \left(\frac{\omega(t)}{t v(t)}\right) dt\right). \quad (5.8)$$

Again using Lemma we have

$$\begin{aligned} \|l_n(\cdot)\|_p &\leq \left(\int_0^{\frac{1}{n+1}} + \int_{\frac{1}{n+1}}^{\pi}\right) \|\phi(\cdot, t)\| |K_n(t)| dt \\ &= o\left(n \int_0^{\frac{1}{n+1}} \omega(t) dt\right) + o\left(\int_{\frac{1}{n+1}}^{\pi} \frac{\omega(t)}{t} dt\right) \\ &= o\left(\frac{n}{n+1} \omega\left(\frac{1}{n+1}\right)\right) + o\left(\int_{\frac{1}{n+1}}^{\pi} \frac{\omega(t)}{t} dt\right) \\ &= o\left(\omega\left(\frac{1}{n+1}\right)\right) + o\left(\int_{\frac{1}{n+1}}^{\pi} \frac{\omega(t)}{t} dt\right). \end{aligned} \quad (5.9)$$

From (5.8) and (5.9), we obtain

$$\begin{aligned} \|l_n(\cdot)\|_p^v &= \|l_n(\cdot)\|_p + \sup_{y \neq 0} \frac{\|l_n(\cdot, +y) + l_n(\cdot, -y) - 2l_n(\cdot)\|_p}{v(y)} \\ &= o\left(\omega\left(\frac{1}{n+1}\right)\right) + o\left(\int_{\frac{1}{n+1}}^{\pi} \frac{\omega(t)}{t} dt\right) + o\left(\frac{\omega\left(\frac{1}{n+1}\right)}{v\left(\frac{1}{n+1}\right)}\right) + o\left(\int_{\frac{1}{n+1}}^{\pi} \left(\frac{\omega(t)}{t v(t)}\right) dt\right) \\ &= \sum_{i=1}^4 J_i. \end{aligned}$$

Now we write J_1 in terms of J_3 and J_2 , J_3 in term of J_4 .

In view of the monotonicity of $v(t)$ we have

$$\omega(t) = \left(\frac{\omega(t)}{v(t)}\right), \quad v(t) \leq v(\pi) \left(\frac{\omega(t)}{v(t)}\right) = o\left(\frac{\omega(t)}{v(t)}\right) \quad \text{for } 0 < t \leq \pi$$

therefore we can write

$$J_1 = o(J_3).$$

Again using monotonicity of $v(t)$

$$J_2 = \int_{\frac{1}{n+1}}^{\pi} \frac{\omega(t)}{t} dt = \int_{\frac{1}{n+1}}^{\pi} \left(\frac{\omega(t)}{t v(t)} \right) dt \leq v(\pi) \int_{\frac{1}{n+1}}^{\pi} \left(\frac{\omega(t)}{t v(t)} \right) dt = o(J_4). \quad (5.10)$$

Using the fact $\frac{\omega(t)}{v(t)}$ is positive and non decreasing, we have

$$J_4 = \int_{\frac{1}{n+1}}^{\pi} \left(\frac{\omega(t)}{t v(t)} \right) dt = \frac{\omega\left(\frac{1}{n+1}\right)}{v\left(\frac{1}{n+1}\right)} \int_{\frac{1}{n+1}}^{\pi} \left(\frac{1}{t} \right) dt \geq \frac{\omega\left(\frac{1}{n+1}\right)}{v\left(\frac{1}{n+1}\right)}$$

therefore we can write

$$J_3 = o(J_4).$$

so we have

$$\|l_n(\cdot)\|_p^v = o(J_4) = o\left(\int_{\frac{1}{n+1}}^{\pi} \left(\frac{\omega(t)}{t v(t)} \right) dt\right).$$

Hence

$$E_n(f) = \inf \|l_n(\cdot)\|_p^v = o\left(\int_{\frac{1}{n+1}}^{\pi} \left(\frac{\omega(t)}{t v(t)} \right) dt\right)$$

This completes the proof.

7. Conclusion.

In this study, different types of results on the degree of approximation of periodic function belonging to the Lipschitz classes and Zygmund classes of function are reviewed. The established theorem in this paper is on degree of approximation of function in the generalized Zygmund class by $(E, 1)$ $(E, 1)$ summability means of Fourier series. The result can be extended for other functions belonging to weighted Zygmund class.

References

- [1] A.A.Das, S.K.Paikray, T. Pradhan and H.Dutta, Approximation of signal in the weighted Zygmund class via Euler- Housdroff product summability means of Fourier series, J.Indian Math. Soc. 86 (2019), 296-314.
- [2] L. Leinder, Strong approximation and generalized Zygmund class. Acta Sci. Math. 43, no. 3-4, (1981), 301 – 309.
- [3] F. Moricz, Enlarged Lipschitz and Zygmund classes of function and Fourier transformation. East J. Approx. 16 . No. 3, (2010) 259 – 271.
- [4] F. Moricz, and Nemeth, Generalized Zygmund classes of function and Approximation by Fourier series . Acta Sci. Math. , no. 3 – 4, (2007), 637 – 647.

- [5] L. N. Mishra, V.N. Mishra, K.Khatri, Deepmala, On the trigonometric approximation of signal belonging to generalized weight Lipschitz $W(L^r, \xi(t))$ ($r \geq 1$) class by matrix by matrix (C^1, N_p) operator of conjugate series of its Fourier series, Applied Mathematics and Computation, Vol. 237 (2014), 252 – 263.
- [6] V.N. Mishra, K. Khatri, L.N.Mishra, Deepmala, Trigonometric approximation of periodic signal belonging to generalized weighted Lipschitz $W'(L_r, \xi(t))$ ($r \geq 1$) – class by Norlund – Euler $(N, p_n)(E, q)$ operator of conjugate series of its Fourier series, Journal of Classical Analysis, Vol. 5 No. 2 (2014), 91- 105. doi: 10.7153/jca-05-08.
- [7] A. Mishra, B. P. Padhy, and U. Mishra, On approximation of signal in the Generalized Zygmund class using (E, r) (N, qn) mean of conjugate derived Fourier series. EJPAM, Vol 13, No. 5, (2020), 1325 – 1336.
- [8] Tejaswani Pradhan, Susanta Kumar Paikray, Umakanta Mishra, On approximation of signals in the generalized Zygmund class via $(E, 1)(\bar{N}, p_n)$ summability mean of Fourier series, Indian Society of Industrial and Applied Mathematics, 10 (2019), 152-164.
- [9] M. V. Singh, M. L Mittal, and B. E. Rhoades, Approximation of functions in the generalized Zygmund class using Hausdorff means. Journal of Inequalities and Applications. 2017:101 DOI 10.1186/s13660-017-1361-8, (2017), 1- 11.